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Chapter 3 
Outline responses to Discussion Questions

1. We argued in the text that Rawls's Difference Principle asserts that it is only just to have an unequal distribution of wealth if all persons benefit from that allocation, relative to the situation of an equal distribution. But we also argued that the total level of utility attainable might depend on the distribution of wealth, as utility could be higher in an unequal position if incentive effects enhance productive efficiency. Discuss the implications of these comments for a morally just distribution of resources within and between countries.
If one subscribes to a Rawlsian notion of justice, then it would be only be just to have unequal distributions of wealth (between countries and within countries) if one were convinced that all individuals would be better off (more wealthy) than they would be if wealth were equally distributed. It seems most unlikely that this is the case. The idea that the total level of utility might be higher with inequality is different from the Rawlsian position. It might be taken to mean that the total level of well being (but not its distribution) matters. This is essentially a standard utilitarian stance. Alternatively, it might also imply that all individuals could obtain enjoy higher utility under unequal wealth distributions, if appropriate compensation and/or redistributions were carried out. 

2. In discussing the work of Robert Nozick, it was argued that libertarian ethics have been adopted most enthusiastically by those who believe in a limited role for government. But we also noted that it is by no means clear that a laisser-faire approach is necessarily implied. Three difficult issues arise in connection with the principle of just acquisition:

What should government do about unjust holdings?

How are open access or common property resources to be dealt with?

How do external effects and public goods relate to the concept of just acquisition?

Sketch out reasoned answers to these three questions. 

We will leave you to develop your suggested answers.

3. If society deemed it to be correct that some animals or plants have intrinsic rights (such as rights to be left undisturbed or rights to be reasonably protected), then such rights can be protected by imposing them as constraints on what is legitimate human behaviour. Do humans appear to regard whales as having intrinsic rights, and if so, what rights are these? In what ways, if at all, do humans defend these rights by imposing constraints on human behaviour?

Some, but certainly not all, humans appear to believe that whales have the right to exist, and to not be hunted for food or other products, irrespective of any role that they may have in contributing to human well-being. Many countries have signed international agreements introduced under the auspices of the IWC and/or CITES. The website addresses for IWC and CITES were given above, and these sites provide much information on these agreements, and links to related sites.

4.
A river tumbles through forested ravines and rocky gorges towards the sea. The state hydro-electricity commission sees the falling water as untapped energy. Building a dam across one of the gorges would provide three years of employment for a thousand people, and provide longer-term employment for twenty or thirty. The dam would store enough water to ensure that the state could economically meet its energy needs for the next decade. This would encourage the establishment of energy-intensive industry thus further contributing to employment and economic growth.


The rough terrain of the river valley makes it accessible only to the reasonably fit, but it is nevertheless a favoured spot for bush-walking. The river itself attracts the more daring whitewater rafters. Deep in the sheltered valleys are stands of rare Huon Pine, many of the trees being over a thousand years old. The valleys and gorges are home to many birds and animals, including an endangered species of marsupial mouse that has seldom been found outside the valley. There may be other rare plants and animals as well, but no one knows, for scientists are yet to investigate the region fully.






Singer (1993), page 264.

Peter Singer's discussion of ethics and the environment begins with this scenario. His description is loosely based on a proposed dam on the Franklin River in Tasmania. Singer notes that this is an example of a situation in which we must choose between very different sets of values. Please answer the following question, as put by Singer: Should the dam be built?
The way in which economists would want to answer this question - by conducting an environmental cost benefit analysis - is set out in chapters 11 and 12, where some of the objections, and alternatives, to it are also considered. Basically economists would want to weigh the commercial benefits against peoples' willingness to pay for the retention of the amenity benefits of the valley in its undisturbed state. Looking just at the commercial benefits, the government of Tasmania wanted to dam the Franklin River, and started work on the project. There was a great deal of opposition from conservation groups, and much political controversy. The federal government of Australia intervened to stop work on the dam, and it was supported by the courts thus setting an important legal precedent in Australia. The federal government's position was based on ethics and politics rather than economic analysis. A brief account of the sequence of events is at http://www.wilderness.org.au/member/tws/projects/Wild_Rivers/franklin.html.  

Answers to Problems

1.  Suppose that one believed that each generation should have the same level of well-being as every other one. Demonstrate that we could not ensure the attainment of this merely by the choice of a particular discount rate, zero or otherwise.  

Let d = 1/(1 + ρ) be the discount factor, where ρ is the utility discount rate. For

Max U0(C0) + dU1(C1)

subject to

C0 + C1 = X 

the Lagrangian is

L = U0(C0) + dU1(C1) + λ[X - C0 - C1]

and necessary conditions include

∂L/∂C0 = UC0 - λ = 0

∂L/∂C1 = dUC1 - λ = 0

where UC0 = ∂U0/∂C0 and UC0 = ∂U0/∂C0 are marginal utilities now and in the future. Then

UC0 = dUC1
so that setting ρ = 0 and hence d = 1 gives

UC0 = UC1
and hence equal levels of consumption and utility now and in the future.

Now suppose that rather than sharing out a fixed amount of consumption, X, between the two periods, it is assumed that C= and C0 are related according to

C1 = F(C0)

so that the Lagrangian is 

L = U0(C0) + dU1(C1) + λ[C1 - F(C0)]

with necessary conditions

∂L/∂C0 = UC0 - λFC0 = 0

∂L/∂C1 = dUC1 + λ = 0

where d = 1 implies

UC0/UC1 = - FC0
and consumption and utility are the same in each period only if FC0 = -1, as is the case where C1 = X - C0. Generally, the implications of ρ = 0 depend upon the terms on which consumption, and hence utility, can be shifted over time, ie on F(C0). 

2. Prove that, under the assumption of diminishing marginal utility, the linear indifference curves in utility space in Figure 3.1 map into indifference curves that are convex from below in commodity space, as illustrated in Figure 3.2. 

For linear indifference curves in utility space

W = wAUA + wBUB
where UA = UA(XA) and UB = UB(XB). Things are simpler and clearer, and nothing is lost, by assuming wA = wB = 1 so that:

W = UA + UB






(1)

The notation in what follows is:

UA = ∂UA/∂XA > 0,   UAA = ∂2UA/∂XA2 < 0

UB  = ∂UB/∂XB > 0,   UBB = ∂2UB/∂XB2 < 0

For (1), the differential is

dW = UAdXA + UBdXB
and for dW = 0

dXA/dXB = - UB/UA





(2)

where dXA/dXB is the slope of an indifference curve in the individuals' commodity consumption space, which is negative and equal to the ratio of their marginal utilities.

Consider what happens to this ratio as B's consumption increases, and A's (necessarily) declines. Given diminishing marginal utility, UB decreases and UA increases, so that UB/UA gets smaller, and as shown in Figure 3.2 the negative slope of the indifference curve decreases.

3. Demonstrate that an unequal distribution of goods at a welfare maximum may occur when the weights attached to individual utilities are not equal, and/or when individuals have different utility functions.

The problem can be defined as: choose XA and XB to maximise
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subject to the constraint

XA + XB ( 
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The Lagrangian for this problem is
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The first order conditions include
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which together imply that
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If  both individuals have the same utility function so that UA(XA) = UB(XB) = U(X)  then this maximisation condition is
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which for wA  ( wB  can only hold when XA ( XB, and so goods are not equally distributed. If wA = wB and the utility functions differ, on dividing both sides by wA the condition is
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which can only hold for XA  ( XB. 
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